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1. She became when her best friend stole her boyfriend away from her.
(A) awake (B) furious (C) direct (D)repetitive
2. My parents have high about my future. | shouldn’t let them down.
(A) expectations (B) sympathy (C) depression (D)conversation
3. Is the restroom ? I hope it is not occupied now.
(A) cultural (B) ignorant (C) vacant (D)straight
4. Scientists today are faced with the most task of finding a cure for AIDS.
(A) adjustable (B) challenging (C) universal (D) inherited
5. The young man was in a serious car accident, but he luckily
(A) succeeded (B) remained (C) survived (D)organized
6. He has a strong to study abroad after graduation.
(A) design (B) demand (C) debate (D)desire
7. Soccer is popular in Europe but it never really in Taiwan.
(A) sets up (B) stops off (C) gets fired (D)catches on
8. The people for the experiment were chosen completely ; everyone had an equal chance.
(A) at large (B) at risk (C) at stake (D) at random
9. You may do anything you like it is not against the law.
(A) even if (B) unless (C) in case (D) as long as
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10. Mother always says that we do not listen to any words of

(A) hers (B) she’s (C) him
11. Susan is of the two children in Mr. Brown’s family.
(A) tall (B) taller (C) the taller
12. When there is an emergency, call the number 119 and stay calm
(A) when (B) until (C) by
13. The place is famous its beautiful scenery.
(A) at (B) for (©)in
14. His father is well-known a musician.
(A) as (B) with (C) at
15. 1 am sorry. | cannot find of the two books you lent me.
(A) neither (B) each (C) either
16. He sat there reading, his eyes with tears.
(A) shone (B) shining (C) shine

17. Every time cigarettes go up in price, many people try
(A) to stop to smoke  (B) stopping to smoke (C) to stopping smoke

(D)her
(D)the tallest
help comes.
(D) since
(D) on
(D)by
(D)any

(D) shined

(D)to stop smoking

18. If it had not rained so hard yesterday, we to Tainan.
(A) should have gone (B) should go (C)go (D) went
19. A : | called you at eight last night, but you weren’t home.
B : I was! | couldn’t answer the phone because | my hair.
(A) had washed (B) washed (C) was washing (D)have washed
20. Mother : His bad cough kept him awake all night.
Doctor :
(A) He should sleep earller (B) Oh, I see. He deserved it.
(C) He’d better stop thinking. (D) I'am going to give him different medicine.
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(A) 60 kgf-m (B) 80 kgf-m (C) 100 kgf-m (D) 120 kgf-m

K PRE > P T 2 6om e $Y R4 F P2
(A) 60 kgf/cm? (B) 80 kgf/cm? (C) 100 kgf/cm? (D) 120 kgf/cm?

20. 4o BI(N)HTm 0 - A fE A SR E R BE A 2 m X - 100 kgf 2 ghd 1T o R ABEE 4G
w?
A —» 100kgf B Bl(~)
=!= >
2m 6m

(A) 25 kgf (B) 50 kgf (C) 75 kgf (D) 100 kgf



